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B K 4 i B 2E KK = 50m
1 BBl Hs S C K NG 3/ 3 1:12.95 35.13  T#k ( 0.86)
2 Tk AL B I G #iF NG 4/ 1 1:13.88 34.99 6%k ( 0.84)
3 ¥H Wk = =372 NG 2/ 4 1:14. 34 35.02  5f%k ( 0.73)
4 H)IbRE B S C KJiF NG 3/ 5 1:14.38 34.92  6#% ( 0.70)
5 fitts ZER J S SHJl /INB 3/ 7 1:14. 85 35.43  6#k ( 0.63)
6 JblE  HiLk 4SS /1N 3/ 8 1:14. 88 35.31  6f% ( 0.87)
7T HEH K v—FRAFT /5 1/ 4 1:15.02 35.97  6#% ( 0.75)
8 ML EEA My ZA A LH4 /6 2/ 6 1:15. 24 36.22  5fk ( 0.74)
9 BJII Bl B I GH#iF /N5 2/ 5 1:15.37 36.16 6% ( 0.82)
10 A B BIGHARE /6 3/ 1 1:15.50 36.41  6fk ( 0.83)
11 A0 Hu S C KJF NG 2/ 3 1:15.98 35.84  5fk ( 0.90)
12 KEE D2 S C KIF NG 3/ 6 1:16. 39 35.85  6#% ( 0.85)
13 Hik S5 E8tS S NG 4/ 8 1:16. 62 37.03  5#% ( 0.68)
14 ¥ E & =hFS A /NG 1/ 5 1:16.98 37.09  T#k ( 0.79)
15 HHEES My A A LEL /N6 3/ 2 1:17.37 36.19 5% ( 0.77)
16 fEH  PkA My AA LHL /b /6  1:17.40 38.17 5% ( 0.98)
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3 TEiE HAK SCh\h =P 4/ 5 1:07.92 31.16 6#% ( 0.63)
4 FEEE WA My A A LH4  H2 4/ 3 1:08. 61 32.45  6#% ( 0.80)
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6 KM &BY o1 NE Hh2 4/ 2 1:10. 72 33.90  5#% ( 0.82)
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Y HBE: 104250 11:34



